
      
 
  

   

BINOMIAL EXPRESSIONS 

 

 

 

 

 

 

 
 



 

oaúmo m%ldYkhl j¾.dhs;h 

 

(x + y)2  = x2 + 2xy + y2 

  

     

     uq,a mofhA        fojk mofha j¾.h           

     j¾.h      

                 2 ∙ uq,a mofh;a  

                 fojk mofha;a .=Ks;h  

 

  



 

oaúmo m%ldYkhl >kdhs;h 

 

1. (x + y)3 

 

(x + y )3 = (x + y)( x2 + 2xy + y2) 

               

              = (x + y)( x2 + 2xy + y2 

 

              = x3 + 2x2y + xy2 + 2xy2 + y3 

 

              = x3 + 3x2y + 3xy2 + y3 

  



 

(x + y )3 =  x3 + 3x2y + 3xy2 + y3 

                                 fojk mofha  

                                     >kh 

uq,a mofha >kh                     

         

uq,a mofha j¾.fha;a  

fojk mofha;a .=Ks;fha  

;=ka .=Kh 

                   uq,a mofh;a fojk mofha  

                   j¾.fha;a .=Ks;fha ;=ka .=Kh 

 

2. (x - y )3 

 

(x - y )3 = x3 – 3x2y + 3xy2 – y3 

 

 

 

 

 

 



 

 

 

 

 


